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12/14/2017 Algebra 1T — Scmester Test
1) What is the domain and range of the following graphs?
K ; t PR b) __i . c .
T D (-20) Tl D=9 )
iy i : a’ Fo i ' X
| ‘\‘ . K [0/5"’) o ; K'E)‘)S)
HH

2) Find the equivaient sets for the following:
a) {21 3; 4'; 5} N {2l 41 61 8}

£2,97

52345002468 §33¢0, 2

3) Simplify the following expressions. Leave your answers in exponent form with positive

exponents.
15x%y >
20x%y°

| by (43x°y3 » x2)°

y .‘gxé@)/ 'y

4) Given the sets, state the following. U/ = {1,2,3,5,7,11,13,17,19}, A = {1,2,3,17},
and B = {1,2,3,5,7,11}

a) B’

%13, 17,19

|byAuB

£1,2,3, 70,177

5) Solve, graph, and write your answer in interval notation for following inequalily
a)5<4pb -3 <9
+3

*3

+3

S&E b4
o3 =

6) Simplify each polynomial expression.

5+ 7x% - 4x2E 9T

Cfd{"':’-"

513'1‘(””1\:4 (

_.. 8} Factor the following polynomials.

.

(&)

a)x? + 16x + 28

13
4 |35

Jz

3

(x +74) (vt2)

9) Rationalize/simplify the following radicals.

|byx+2<—-20Rx—2>2
-3 -2
X <-4

o X2

worp—rr
Y

\ b) @}+ xzy_;z?) + (4297 + x2 -I:nyz)
=2 by 2 Xt -Xy 2

| by 24

| b)x% + 3x — 10

5 X0

b) Vr.x?

- 7} Classify the following polynomials by their degree and number of terms.
) x® + 3x

S 4

& 233
T x

3+ (x=2)

_10) Put the following polynomials in standard form and identify the leading coefficient.
@) a) 9x7 + 3x* — 8x°

11) Solve, graph, and write your answer in interval notation for the fellowing inequalities.
| b)—2x + 9~ 10 = 3(9x + 16)

a) =2(7x + 15) < 14
Yy - 021y

+30 4k

-ty M

pya

X7 ==

~8x Ty ay7rax? (D)6x7—x+ 8 = 3xtrax®
X0 3x )Pl E

L. ~¢

éﬁz
-22

™4

-2 X
~27x

L.¢,

-1 2 27y r4y
i ~27x 4
ey 2y
¥¢
xe =7 (-
= -

A

49
—3 ey



12) Solve, graph, and write your answer in interval notation for the following inequalities. Be
@./ sure to show all your work!!! Leave your answers in the simplest fraction form.

. a)—(6x+6)—5>1—6x ne ) b) -1+ 5x < 3x + 2x ~] <
13) Simplify the following radicals. >
+ , 3 2 5 2
@ a) \/xBy13 Xy iy | by 3/32x0y 15 2X v S

14) Identify the independent and dependent variables in the following scenarios.
a) The more questions I put on a test, the more problems you get wrong.

"\ b) Your IQ goesup as you take more classes. —

4 c) There are fewer seats to sit in as students come to class.
d) As the CMMD, the more animals go into hibernation.

15) Multiply the foliowing polynomials.

@; a) (2x + 4)(x? — Tx + 3 by (x—3)2 X =6x +7
7\)53“'{0)(2— +iA.
16) Fill in the missing information.
Function Notation Name Graph

€ Fe) = x* guscdtic ﬂf/

17} Write the following in words. Do NOT solve it.

X
. _x . . —x <
@) a) b 3 >4 & miaus X 04!’,-5/,-,,[@/ b)7 x _I8 . _
. by I ?,,ﬂ”{f’_ 7,;4“_1", 7“’!;}1“; & s less Al e & i/ ,&03:
. . . !
18) a} With radicals, we do not want a S in the - , and we do not
wanta  — in the

@ b) In the radical V o Ld4isthe jadex . Wesayitisa 4 for 1 deal.

¢) With a power to a power, you mall,ily the exponents. (ex. (x%)%)

d) When multiplying with the same __ bu g2 . you keep the base and acled the
T € £5.
19) I pay $10/month for AmazonPrime. I also rent movies from Amazon that cost $3.99 for a
—. month’s rental of the movie. 10+ 3.99 4

>} a) Write an equation that represents how much I will be charged each month by Amazon.
b) How much do | get charged for renting 5 movies in one month? g, ; 2 2745 = ,{fz;}}

>\ 20) Factor the following polynomials completely.
@l a) 10x% —17x + 7 lox~7 70 | b) 6x2 + 11x + 4 2y | Y
X i “‘f? ‘)/Y G ))X.
)0,-(_7)()(4) a7 23 2xH) (3% +Y 7 X 2 {2

xo“ -Ix 3 @

zx
g Ly | 20! 12



Name:

2/6/2018

Algebra IT — Test 4

[} Solve the following quadratics by factoring.

a)2x>—3x+1=0
(2xtx-p=c
% 1

&
X=r, 0"
2) The f(x) fuicn

model the distance a projectile is from the ground where fis measure in feet and x is
in seconds. f(x) = —16x% + 45x + 200.

a) What does ag being negative mean? (Why is it negative?) o -reees b, }{’ﬁ!./,;’:"}c, A Qé.,-,,,‘,

b) What does vy being positive mean? (Why is it positive?) <

¢) What is the velocity of the projectiie? 4 £ 4/>e,
d) What height is the projectile launched from? 206 £~

e} How long after being launched until the projectile hits the ground?
X=(5$.2 sec

3) Use the discriminant to determine how many and what kind of solutions yvou would get for the following.

a)x?—10x + 25 = 0

b) 2x = 3 + 2x?
-2y —2x

0)3+x? =—4x

Fiy  H

4y Using ax® + bx + ¢ = 0, then

iy

o
2(te)

Discriminant

Number/type of solutions

loy.25~2 f /(
c‘.’q/..
Z‘:‘__C{’;Z_( 3: - " . .
y—q 2¢ 2 imag,
b gy
le-i2 1 2 Ken/,
'"‘J? T jgh‘:..yac

x =

5) Solve the following quadratics using square roofs.

a) x? 736 X =&
c)x2+49———0 2 i b i
dx2+4 =24 Bici <

2




6) For each of the following quadratics, find the vertex, the axis of symmetry, the y-intercept, the zeros, the
domain and range, how it opens.

Functions Graph Axis of Vertex Zeros Domain and | y-intercept
opens symmetry ' Range

a)y=x>—10x+9 - S~ C‘?f") p: feae0) /
w |x=s |00 | el | (o1)

It
5
7} Our school’s revenue can be modeled by the equation C(t) = 0.75¢t% + 10t + 200. Where 7 represents the

number of students here. The weekly cost of running our school is modeled by: €(¢t} = 80t + 700. How many
students must our school have to break even (when revenue equals the costs)?

70 I%) c7SATHIOA Y200 = SOA 4100

2(-75) 75“«%1 ~A —sve =0
8) Solve the following quadratics using any ed-t-Cave your answers in the simplest radical form.

Ax?+2x+9=0 BY3x2-11x—-4=20
Z ;‘/hj\‘_:/‘
)x*+6x+3=0 d)2x* +3x =9
- -7

Y36 =2 21 +48 o i6y
,‘zi~21"%‘('7 sw.‘JE T ,”)“-_L{-. 3)/—y

2 2 (3)
(22 2 :
b [
SL—22 =29 7 4722 =327

NS 22/
2 z2(z)

2206 345 _
E.---—_*: *BfJé— ___3_____“_._2 = "@“ ,._1_2
2 y v, Y



Name: R </ 3/13/2018 Algebra 1l — Test 5
rg 57£..._ I3 ?C - 20
1) Solve the following equa,igns Lca\»e your answer in the SImplest radical form. 2% “VST76 -y 1ty T

ayx?+25=0 ,X - b) =149 = x? — 24x .+ g

2 23 . zitac)s *“""___“’

- x> £5% s xtess s
[)/ f _ ?{ «‘*-)')___'), ‘_-’f_—;-—‘a{’;_ __2('-_-,

C)x‘2+18=—-6x é*\)’ib "f@f{( d)0:3x2+4x+3 “-‘(_t“_ "L'_Lf-(j}

f“ 46X IR -

¥ 2 2.3

“rexHY —6£ ¢, . )

2)E hc_ values of x and\y that maEc each equation truem . -

1—-—x+ —yt ‘b)x+4t/~y+6u/ (/
C —y = 2X _‘__‘_“___i_ff_—w—-‘—” _
e (i)

3) State the conjugate of each of the following complex numbers.
b) 2i

G =

e

4) Muliiply the following complex numbers
a) (5 + 6.-:)(2 +1)

¢) (7 + 5i)(7 = 5i) dy(1+2i)(2-1
@ (d+3¢) ¢/

5) Add/subtract the following cmplex numbers. { / =
a) 8 +9i —5(2 - 3i) b) (6 + 4i) + (5 — 7i)

O P15 g T e
@ [ 2 #2115 ) -3 7

e e d
6) Find the absolute value of each complex numbers.
a3 +4i | by 15| | ¢) |9 — 3i]

544 - g Y

b) —_%—3{ +i—




~v Ry
7) Simpjify andsrite your answer in the form a + bi.
a}y 2" — 3 b) 5 - @}P’{

2+50) [ 1+2¢ - (3+7i1) - "¢ g 2 )
5 % ( _L) o CrTe T D= 5 - A% 73
—_ IC I+P—L ) _ 4 IR ? - R
f » ? Z
2.0 He fU[_/E
8) Put the fol]omng equations in vertex form and identify the vertex. .
a)y =x*+12x + 17 b)y—ﬂ/—tltfx }"‘W(

L(i- —i
X"+ }Z)r+ 36 +l7 =3¢ = (X ~1x +_Z_> — 17

9) Use the information provided to write the standard form of a circle AND identify the center

- .and radius.
@a)6x+x — 10y = 30 — y b)x2+y2—22x+18y+102—0

FiEy + ﬂ = o2 + 12 -,(_‘5:5;

‘L)’ 2 {24 4
Priw + T yl—zo/ - 2__..5— = 30 4|2 Xﬁ%‘/—l/—' C( .
2 _ XU} plyt) = o i,
()44—3) +(y-5')2::ék( G/ / e y*:;_r)

} Center: {13, —2);Diamcter: 16 Dx+32+{y—-2)2=2
Translated 3 units right and 7 units down

(XEIOE -0y > ((3,2)

+3 -7 ____2___._H___w__.:_
_________________ R P Mj BB

/2205
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Name: K2y, 4/26/2018 Algebra Il —Test 4
) ’
Using the triangle on the right and the values given, find all the missing B
sides and angles. in the following chart. c
3. a 2
sia(®) 27
(v :
. Given: 6 g : a ! b c
w23 8|  55° 2 5° 5,7 4,1 7 . ia
7 fw’!(g 3 by [ % 10° 17 3 i7.3 1773 :‘i
Pl L
a"; '? C) ;3 37c 12- 9 15 f——g/é,,@ o ':?— .
R ey
7
2) What are the definitions of the following trigonometric functions -
C - sin(f) = L,f’p’-’/;!ﬂ.f ’ cos(8) = aolj/;,ﬂ, i tan(@) = P ey
csc(B) = ;‘"XF/E;-"/’ } sec(f) = hy’ﬂ/::d’j | cot(f) = a,;{)‘/é/ﬂ
3) Each of the trig functions given above are abbreviations. What do each of the abbreviations stand for?
@ 5"575'_’ lotiae, -%cw;m# p secant, (o seceat, (o 'fc:fz?;;frﬂf:
4} Using the triangle above and the values given. fill in the following chart.
s"{éll ré ) Trig function a)a=5b= }{15
. 2 ot lZ5 sin 6 Shhe = Vi
R i -
@/ is f cos & s/50 = 3Jefy
o< 5:-‘{;}:'2‘. tan @ 57/;' = ‘/}
csc Jic
sect Jio /;
cot 6 3

5) Draw the following vector: < —4,3 >

~F-12 =y

6) Find the component form of the vector AB A

_, A(=7,-12)& B(4, -8 | |
& A <z
Y7



form.
a) < 12,10 >
Rtz c”

8) Find each vector sum.

2) < 510> +< —~11,7 >
D) |
(> P

:"?) What is the magnitude of the each of the following vectors? Write your answer in the simplest radical

| b)< —6,8>

¢ g tae ®
(ot
|b)< —1,8> 4+< —6,—3 >

4'—7/ s>

9) Find a vector in component form for the following:

Magnitude 20 and direction 30°

(i%i)

) LI O A P A
Li%27y @ 5y 235 20 o3 () 255 o

(£75,03) >

y=lo X=173

10) Ethan is standing 30ft away from a building. He measures the angle to the top of the building to be

65°. How tall is the building?

11} Graph the following angles.

2o

12) For the following angles, find the reference angl

a) —160°
. [&o
L( Y _M[.éf-—-

Za®

13) Find the area of the following triangles.

iy a) C
A i HF -

14 cm 14 cm

A 13 ¢m B

(o5 4 Ly T
/2 {%)(M'Q}""U)(Zag“

~1Y
CH0 1 Cem? 4

s 30" Fun [6'57 = % “Fo

lb)380°

e,
b) 380°
~3io
2.
b) T _57km o
‘ 11 km
R
A-;: : Q-Iﬂ5tif}' CQ

-—

e wl—

5.7 (1) 5iaf23)
= 12.2km"



Name: K € 1/12/2018 Algebra 1] -~ Quiz 13

1) Match the f8llowing forms with their definitions

‘. W-2 A, form used by employees to inform employers of exemptions
4\ W-4 B. form used to report income to the state
Pe 1040 C. form used by employers to report income paid to an employee
., ND-I D. form used to report income to the IRS
i

2) A fireworks shell is fired from a mortar. The function models its height:
f(x) = —16x? + 224x, where x is the time in seconds and fis the height in feet.
Using a graphing device:
a) The shell is supposed to explode at its maximum height. What height should it explode at? 7 57.£%.
b) 1f the shell is a dud. how long will it take to return to the ground? (Y s<c
¢) What does a, being negative mean? (Why is it negative?) soveiry s i F
d) What does vy being positive mean? (Why is it positive?) sq,.0 7
e) What is the velocity of the projectile? 22%8'+/%. . !
f) What height is the projectile launched from? .
Lk [ike f_;,s.:..z-!}

3) A basic formula used to model a projectile’s height is given as: h = %agtz + vyt + hy. What do each

of the coeflicients/constant represent?
Q Yo . . : ho
.';4!\‘}’!23 r" b’;’{ﬁ'.. ' f;v

Widdaf  dfledeebie A st b fj;wf .

b) How would you say “vy™ /' nck

4) For each of the following quadratics fill in the table.

Functions Graph | Axis of Vertex | Min/max | Zeros | Domain y-intercept
opens | symmetry and Range
, £y
L | rno | max Lo |07 |
a}y = —x2+4x — 4 | Lo A=2 {4/ AN {200 i) |7 £)
b) y = x% — 4y — 12 , (’12 y é) A (-__.,_),,(-_i) 4 (w‘c:-?- z:frj‘ [ -,',1)
A X=2 7 (eer | KoL)




Name: k@y 1/19/2018 Algebra Il — Quiz 14

1) Solve the f6l|0wing quadratics by factoring. 3
a)2x2—3x+1:0 X e ,)(X;ZE){_
2(2’7 f/)_ ; X==5-3 s{sx [is
2) The f(x) function can model the distance a projectile is from the ground where fis measure in feet
and x is in seconds. f(x) = —16x2 + 45x + 200.
a) What does a, being negative mean? (Why 1s it negative?) 7«:@.”"& palls i Lot
b) What does v, being positive mean? (Why is it positive?) Hed  ‘wp
¢) What is the initial velocity of the projectile? S 50
d) What height is the projectile launched from?
200 4+,

byx?+8x+15=10

2

3) A basic formula used to model a projectile’s height is given as: h = %aﬂtz + vyt + hy. What do each
of the coefficients/constant represent?

At . .
g [ vel "1-_11;‘\‘:_, hl] ;}1 1"1!;%;/

tatkaf  accelemtionq Ueloc/ty b pint-
b) How would you say “vy”  {/ pef.

4) Sclve the following quadratics using square roots.
a)x? = 169 Vet )3 ‘b)x2_625=0 Ketae— |ox?+25=0

2 7

&

5) Using ax? + bx + ¢ = 0, then

bt
24

6) Identify the a, b, and ¢ for the quadratic formula using the following.
a)x?+2x+9=0 b)3x% —11x =4

"'l‘f —i
ac> i azl
=2 b:*ff

c =1 L9



Name: [K€¢ 1/26/2018 Algebra 1 — Quiz 15
1) Solve the fo]iowmg equations using the quadrat:c formula Leave your answers in snnplest radical

form. {not decimai!) o+ FT’; + —
a)x? =2x+9 q Q*Ir}b)O—Z;r —x 21 1$ /4.2
z
X=2x-9<o 2- Y 4
e 3
S I K Z -
2) Solve each quadratic by factoring. - 2
B)x?—2x—8 =0 Ib)4x2—9x:—2 o= Qg —y
-y)(x42) =o X=Y -2 = - [ ;
(x-4) / X=2, {,— 2 (-8 2

3} A basic formula used to model a projectile’s height is given as: h = %aotz + vyt + hy. What do each
of the coefficients/constant represent?

o farief Vo jafel ho ra/Haf
agreleratin eloc'ty oo b

b) How would you say “v,”

) yousay v
4) Use the discriminant to determine how many and what kind of solutions you would get for the
following. 2 4L, He it

a)—3x?-2x=1 - 3;:‘) b)lx2+x—3=0 7& ¢) 8x + x? :—16

-} - 2 .
bfent- 2 jmng. 2 Real 67 =416
o [ Reeal,

5) Using ax? + bx + ¢ = 0, then
ATy

249

x =

6) The height of a rocket in meters is approximated by h = —5t2 + 60t, where h is the height in meters
and 1 is the time in seconds. ~S5t (A-12)

a) How long after being launched until the rocket hits the ground? j3 sezc.

b) How fast is the rocket travelling? *Be careful of your units. GCOMfie, .

¢} How long until it reaches its highest point? Esec,

d) What 1s the highest it will reach?

~se)* +éo(z)

O



Name: fei/ 2/16/2018

AlEebra 1 —Quiz 18

1) Solve the following quadratics using square roots.

a)x‘2=4—169 = k3 b) x? + 625 =0 c)x2+25=0
~G2s —b2 5™ ~e ST 2~
Xt Fpas = B 25 R =
2) Find the valugs of x and y that make each equatio true. X VT E‘??
a)5(x — 1) :@ ~20  Gy.gson, | DR 3K {Hryi y
- o )’){': ;
3) State the conjuga ¢ach of the follTowing complex numbers. Y2
—2.5i+1 ; , i —
2) 2t l+2.5¢ by 75— 6 Ny
_ Lo
l.f
4) Solve the following quadratics. j,; ¢ ;(L«. Y. 3¢ Y% —
+ a)x —10x+26=10 er————— PYyx?—10x+37=0 faiJD. n,.q
022: 2 LRy
z o 2. g 3
3) Multiply the following complex numbers.
a)(2-D3-4) 7 b) 2i7°(8i — 91 o Jot 4y
2 =il 7 =AVS2
g‘ﬂ/ { ¥ [(59 / T

6) Find the absolute valuc of the following complex numbers.

a)|-2| [ 6} -3+ 4i] — &
: 3rite b
< 25 =t
£
17
70

o

| ) [-5i]

T

5

-2(8:-1)
18 =1



Name:  f<y 2/23/2018 i /, s” Algebra T - Quiz 19

1) Multiply the following comptex numbers. -
a) (2 + 5i)(1 — 4i) | b) 3}?’/81 9)

)
Dy 3, = _2?/{* 27
2) Simplify the following. _
E)l) s 3{:&3;) " oris( | 300 (1= ) =
7—31 c2 N T = 7Af /
2-31 (243} 12 142 (-2 ] (-2,
ll/’rﬁ. ) pg /—~—«-—~\
3) State the conjugate of each of the following compl mbers. y: !'ﬁl‘*-
a) 5i — 21 _ by 5 —4i oy i -
) 21 ¢ R SHY
. . -2 ~3¢
4) Solve the following quadratics. )
a) x* ~ 10x + 30 —}_0 (& -+ Jroo=Y et | b)2x? +6x+9=0 —& 2 \/.5(5 ~Y.2. 9
ipF 25 —
_— 2 2:2= g

l]fy and write your answer in the form a + bi. . —t 4 6/
B o s
~ - = [Ty M

l —_ = C/ - '---3 T3

2 :
6) Put the following equations in vertex form and identify the vertex. —

a)y=x*+12x - 17 — 3¢ 'b)y:x2+14x —~ g

P o
(vt / VL -11)




Name: H{y 3/2/2018 Algebra Il — Quiz 20

1} Use the information provided to write the standard form of a circle AND identify the center and
radius.

a) Center: {—11, —8);Radius: 7 By (x—12)2 +{y+4)¥* =12 (_{‘2/ -4/
CX_ )'Z ( e z Translated 3 units right and 7 units down_ﬁ___‘_‘z
+H ) &) = . 2 7 an
’ ) 1 (X“‘!‘Q&-{—(K'%H) = }/‘;f}i‘/ ")
2 .“.“2‘/;

2) Use the information provided to write the standard form of a circle AND identify the center and
radius.

a)dx + x% — 6y = 12 — y? b)x*+y*—18x+ 14y +81 =0
. fy"" 4 -5 -
X 'f:LIx-L_:TF___ i ?/‘,,-(2 *..i#? ‘“(Y}r r.,Z[ Fy my//‘“f—-—!éfrgff‘r?
(x¢2) -,i--(ymg,) =26~ }) ,,;—] (K‘-‘?) 0% !~7) =y
3) State the conjugate of each of the fol]owmg complex numbers. [y 7
a) —6i + 21 | b) =7 + 4i (1Y) e
2IHEL ~7-4,
CY-72 = -5
4) Solve the following quadratics. 2¢ e T .
A)x’ —10x+20=0 ot Jivo —H2e \b)2x2+8x+9=0 BrVeT-72.7
fo AT 9 2-2.
E D EE 2 N
3) Slmpﬁﬁ/nd write your answer in the form a + bi. \ e
7 _ 49 \ ~FE2 2
a) i3l % [ byi’ —1 ' _ .
8‘ — L") RS [ -E‘_Z 7 N B 2 : \\‘. i
\ CTTTTTL )
6} Put the tollowmg equations in vertex form and identify the vertex. . *-'ii ¢ ./Z
aA)y=x*+8x—13 ‘b)y—x + 6x > /
B o : 2., 7 —c
X +8XH+IL —I3~1( X"y +L =9

e (X + ‘{)'2 *). ? \/ = CXZILB} —mcz
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Name: 3/23/2018 Algebra I1 - Qufz 22 )

1)
Using the triangle on the right and the values given, find all the missing g
stdes and angles. in the following chart. c
a
8
b
Given: 8 B a b c s
a) 45° Y5~ 7 7 2/2 =99 7Tt7 =2
oL —
b) 53 37 4 3L - s et
Y T2 (3).':‘-@!
2) What are the definitions of the following trigonometric functions
sin(8) = O/‘/’A,y/» ‘ cos(8) = ﬁa?,"//,f”ﬂ l tan(@) = a//ﬂ{,‘
csc(8) = J‘fi’/r’/f’ ‘ sec(f) = },).,,.;,/wé‘ [ cot(f) = m-/'/%/;_

3) Each of the trig functions given above are abbreviations. What do each of the abbreviations
stand for? o _ _

)zrti/_ (o 5iae, f--q»’tjﬁryﬁ, (o5 lynt, Se ‘._’_zz;-z“f; Co '}zl’}g,?{ en A
4) Using the trtangle on the right and the values given, fill in the following chart. ’

Trig Function | a) g = 3. b=2,c=4

sin @ 254 = 3/
2/37 cos 6 2 = s
@ tan# 234 = /%

L= cscf 2/55 T 253
& secf 2

| cotd /3 =3/

SN
Name: \ 3/29/2018 v Algebra I =

1)

Using the triangle on the right and the values given, find all the missi
sides and angles. in the following cha

Given: 8 B “a b c
ay| 45° AN 7
b L~ 3 N 10

cf 30° \ 4
N



Name:

N

3/29/2018

Algebra IT — Quiz 23

Ly

Using the triangle on the right and the values given, find all the missing
sides and angles. in the following chart.

s sty = 2

S @;} = %
C = s;iq"?g

Given: 6 £ a b c
A qs¢ | 4,78 | 498 7
O oot v 6,73 ! -

If' +ig (_Ezcv) = ;-_?,l/

2) What are the definitions of the following trigonometric functions

sin{8) :o;ﬂ/’/}wé
cos{(@) :ouf,}/hy/
tan(0) :C/f/:x;{,"

csc(6) = hyp/e 7
sec{f) = &%«/_&ﬂ‘

cot{8) = (MJ)A,‘,?&

3) Each of the trig functions given above are abbreviations., What do each of the abbreviations stand for?

4) Using the triangle on the right and the values given, fill in the following chart.

Trig Function | a) a = V3,b=1,c=2
sin 0 J2/2
cos & 1/?.
tan @ J’?
csc B 2_]}/}
sec@ o
cot6 J}“/}
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1)
Using the triangle on the right and the values given, find all the missing
sides and angles. in the following chart. . .
, i27=¢ bt
5 _.I',.q : _/) = ";‘3' Lo o
solde)= g b= Jiics
= & - '
(_ Sein { ?C’;] - { 2
Given: 8 B a b
| 30° o 6 X
b | g7 | £ 1 g
c) ViZa 20° 24 .7 9
CZ ‘ w&""f (20) = i . f
2} Graph the following angles. 7

a) —120° ; ‘ b) 390° M
| 7

3) For the following angles. find the reference angle.

a) —120° » — . b) 390°
180~ 10 A Eo® J/ 3L
e

4) Using the triangle above and the values given, fill in the following chart,

Trig Function |a)a =7, b = 24
sinf '7/:154\
cos 8 24/, o~
tanf 7/2’_\{
cscf ,'Ls?/7
secd 2572‘(’
cot 21,{/'7
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Algebra 11 — Quiz 25

Koy
1) ‘
Using the triangle on the right and the values given, find all the missing
sides and angles. in the following chart.

-4
5;"/?(35}) = Z

b g
Given: 8 B a b C
a) 30~ 60” 4 673 4
b | ys* q57 8 8 .3 ZHE= R
¢) {¢” 75° 2.4 9 9.32

G Aanl1s)= ;1 g

2) Graph the following angles.

a) —225° ' b) 40°
3) For the following angles, find the reference angle.
a) —225° - b) 40°
2
Tge | 4o
¥$

4) Convcrt each measure from degrees to radians or from radlans to degre

) { o l b) 35°
' {8

— o4
7 -7
5) Use the unit circle to find the.iact value of each trigonometric function.
a) cos (Z—H) (cs ({2@) i b) Si!'l(.?)] 50) = - E

T ’k Lo =
2

27 "‘2’0 Ly
6) Solve each equation to the nearest degree. Use the given restrictions.
a) sin(d) = 0.45, for 90 < § < 180 ‘ b) cos(8) = —0.334 for 0 <8 < 180

Qc:F ; ter-
2.7¢ le” /

(53
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P) Draw the fgllowing vector: < 2,—3 > .
¥

2) Find the component form of the vector T%—’"’]
A(5,—-9)}& B(-2,10) <=7 >
A ]

3) What is the magnitude of the each of the following vectors? Write your answer in the simplest radical

form. P L2
a) < 8,4 > %fff o | b)< =710 > (e +7
s i = —_— f
I i

4) Find each vector sum.

A)<1,2>4+<0,6> | b)< =3,4> +<5,-2>

<l,8> L2,2 >
5) Find a vector in component form for the following: .4 T 4
Magnitude 15 and direction 42° _ Cos(H2) = s $ial¥2)*
15 : L o {
Xl reio
X : R
LA, 102

6) Kenzie is standing 10ft away from a building. She measures the angle to the top of the building to be
60°. How tall is the building?

}/‘
i v tanfec) = ic

» ' y.: [7.361+



